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1.

Do not open the booklet unless you are

asked to do so.

The booklet
Examinee is required to answer any 50
OMR Answer-Sheet
provided and not in the question booklet. If

contains 60 questions.

questions in the
more than 50 questions are attempted by

then the first attempted 50
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student,

All questions carry equal marks.

Examine the Booklet and the OMR Answer-
Sheet very carefully before you proceed.
Faulty question booklet due to missing or
duplicate pages/questions or having any
should be got

other  discrepancy

immediately replaced.

(Remaining instructions on the last page)

Questions Booklet
Series

C

[ Maximum Marks : 100

qRleieal & forg e :

1. WRA-YRI® & T4 T6 | Giel 9 6 AT Hel
Y|

2. UE-gRAHT H 60 W & e @ foeE

50 Ul @ &ad 4 T3 OMR 3T=R-3E W &
g BT &, WeA-YRd@ W T8l | Ife BT gN
50 ¥ G U B g fhar Sl © RS
gl fhd gU 50 STRI 6l & eI gq Aiferd
e TG | WY Ul @ i WA g |

U & IR Sfhd H W Q@ URA-GRABT T
OMR 3T=R-¥e BT IS < of | gl
UeI-gRA®T T4 8 W BUH | BE Y @l Al
TS Uh W IfE IR BU Y B AT S fHAl
I YHR B A &, A SN R 98 o |

(@ frder a1 U W)



(Only for Rough Work)



1. ‘SIfOROT g @Y ST g‘g‘ 2 1.  The term ‘motivation’ is derived from :

(A) olfes 7 | (A) Latin word
CREERER (B) French word
©) o< (C) Greek word
(D) SUYa H H Bl el (D) None of the above
2. ¥R Ao &1 UG 9T ST § 2. The provision of heavy punishment is
found in :
(A) HidHI H (A) Folkways
(B) R H (B) Norms
(C) dfa ¥ (C) Laws
(D) #RE A (D) Mores
3. Rrr v B SRy &S 2 3. The word ‘education’ is derived from :
(A) fed I | (A) Latin word
B) WF 7=< | (B) Greek word
(C) Wav< | (C) French word
(D) R=i o & (D) Hindi word

4. #ar, foar &R S9e dfdaed 9w Ud 4.  Father, mother and their unmarried

froTyam & children is a feature of :
(A) dilse URAR P (A) Joint family

(B) TUIYUgH URAR @I (B) Polyandrous family
(C) TR URAR &I (C) Polygynous family
(D) gfdeTIR URAR Bl (D) Nuclear family
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TSl BT WY B
(A) Thd IMHR

(B) el amaR
(C) AHRE

(D) S F ¥ I Tl

gl g IR &F & AR W T
afdd e FEd s fefm = g,
fory 9 €

(A) wfegemm

(B) e

(C) AT

(D) Suga H A Bl 7Tl

WRT ST 8, S HMT S &

(A) TGl

(B) IR

(C) WH-UF

(D) SudTd aHl

Ag-107

(4)

The shape of society is :
(A) Circle shape

(B) Triangle shape
(C) Shapeless

(D) None of the above

On the basis of past experience and
knowledge an individual develops a fixed

image is known as :

(A) Stereotype

(B) Prejudice

(C) Ethnocentrism

(D) None of the above

A data collecting tool which is filled by

enumerator known as :

(A) Questionnaire

(B) Schedule

(C) Question paper

(D) All of the above

Set-C



8. Iqdl SUYH @
(A) R arl & forg
(B) 3MUg i & forg
(©) (A) 3R (B) Tl

(D) SW& H W PIg T

0. “Tural qMIfid Tl BT oA g l”

fhdd ERT el AT & ?
(A) HIER

(B) SR¥Q
(C) . L o

(D) IR B

10. ®F-U GO AFd FdeR H DAY

gRec @l & ?

(A) TIRAR
(B) el wRermd
(C) oY TR

(D) ST HReA™

Ag-107

(5)

The schedule is suitable for :

(A) Literate people

(B) Illiterate people

(C) Both (A) and (B)

(D) None of the above

“Society 1s the web of

relationship,” said by :

(A) Maclver

(B) Aristotle

(C) J.P.Leagans

(D) Auguste Comte

social

Which one of the following institutions

brings the desirable changes in human

behavior ?

(A)  Family

(B) Educational institutions

(C) Economical institutions

(D) Political institutions

Set-C



11.

12.

13.

14.

difde 3R oMilfded wepfd &1 uRdcd
HEA ¢

(A) IS I
(B) MG TH®
(C) SMINTG WNIBRUT
(D) AMIT® IRad
oD SHA-FF IR TH B A [
g H ol ol g

URAR TETERT &

(A) IR-fGH T B
(B) Yl WY &I

(©) (A) ¥R (B) T &1
(D) Suga H A Bl el
URTdel SUgdd Bl © :

(A) WER | & forg

(B) 3Fug ol @ forg
(©) (A) 3R (B) 3T @ fore
(D) SWad # | BIS T

Ag-107

11.

12.

13.

14.

An alteration of material and non-

material culture is called as :

(A) Social control
(B) Social interaction
(C) Social stratification

(D) Social change

More face to face and we feeling is found

in which group ?

(A) Primary group
(B) Informal group
(C) Non-voluntary group

(D) All of the above

Family is an example of :
(A) Non-voluntary group
(B) Permanent group

(C) Both (A) and (B)

(D) None of the above

The questionnaire is suitable for :
(A) Literate people

(B) Illiterate people

(C) Both (A) and (B)

(D) None of the above

Set-C



15. IfddTa e Rigrd foad gwfag g ? 15. Personal traits theory is related to :

(A) glgw (A) Intelligence
(B) wfddca (B) Personality
(C) WO (C) Motivation
(D) +qw (D) Leadership

16. VP Tl HUE SUDRY ol WY YfareT gy 16. A data collecting tool which is filled by

HRT SITdT %, I HE O R respondent himself is known as :

(A) PEEIC] (A) Questionnaire
(B) 3@?1??[ (B) Schedule
(C) U=T-UA (C) Question paper
(D) SUgad JHI (D) All of the above
17. UOR & 9 St ¢ 17. The fundamental objective of extension
is :
(A) 8= IdIed (A) High production
(B) S A (B) High income
(C) FIER ¥ UyRadd @ oA &I (C) Development of people by
‘s changing behavior
(D) SUYa H A Bl 7l (D) None of the above
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18. &l @I MG EL IR e 18. Maslow’s hierarchy of needs theory is

TR 2 related to :
(A) RO ¥ (A) Motivation
(B) wfddwd ¥ (B) Personality
(C) dfgwar ¥ (C) Intelligence
(D) 3fedrmm & (D) Attitude
19. o I o fods o+ & ? 19. J.P. Leagans is a father of :
(A) HHTSTRITA (A) Sociology
(B) UER (B) Extension
(C) I (C) Psychology
(D) SUYa H H IS el (D) None of the above
20. W9 I 3RUTAT UG & wY H o oar 20, The group which is known as temporary
3 nature is :
(A) Wfss Nb© (A) Voluntary group
(8) T b S (B) Secondary group
(C) JTaRT w8 (C) Formal group
(D) SUgad FHI (D) All of the above
21, WO @ WG AW W IS ¥, TS ygRy 2L Own culture is best and superior than
FEar other is a tendency known as :
(A) Bfedg (A) Stereotype
(B) Ydarig (B) Prejudice
(OWGEEICEIREIH (C) Ethnocentrism
(D) SUYa H A Bl 7l (D) None of the above

Ag-107 (8) Set-C



22. g yeR & wEifce RO § Soolgq 22. No any punishment after violation is

& a1 P o T R o ? found in which type of social control ?
(A) (A) Mores
(B) = (B) Norms
(C) WIdddl (C) Folkways
(D) it (D) Laws
23. e U SRR ¢ 23.  Classroom is an example of :
(A) T e (A) Secondary group
(B) wifesd g (B) Voluntary group
(C) 3yaRG g (C) Formal group
(D) SUgad JHI (D) Al of the above
24. forad oo g=Rd g 24. The Likert scale is related to :
(A) gieai | (A) Attitude
(B) wfddw ¥ (B) Personality
(C) dfgwar ¥ (C) Intelligence
(D) - ¥ (D) Leadership

25. TeiRT qfHar faas grr |l Al § 2 25.  Ascribed role is assigned by :

(A) URIR (A) Family

(B) AN (B) Society

(C) ¥R (C) God

(D) Sugad FI (D) All of the above

Ag-107 (9) Set-C



26.

27.

28.

29.

Ag-107

TR BT UG TG I A7l 2
(A) BIdHdS H
(B) A H
(C) AW H

(D) dfeT

R B 5 o a § ?
(A) AT

(B) wIfdE

(C) WR

(D) SWE ¥ | TS el

AT gRT W8 T B T3 AT DI A
ST & :

(A) i A

®) fraiRa e

(C) (A) ¥R (B) Tl
(D) SWad # | BIS T

(10)

26.

27.

28.

29.

Established way of behavior is found in :

(A) Folkways

(B) Norms

(C) Mores

(D) Laws

Auguste Comte is the father of :
(A) Sociology

(B) Psychology

(C) Extension

(D) None of the above

Education is the process of ............. :

(A) Changing in skill

(B) Changing in knowledge
(C) Changing in attitude
(D) All of the above

The role decided by individual himself is

known as :

(A) Achieved role
(B) Ascribed role
(C) Both (A)and (B)

(D) None of the above

Set-C



30. YIER & A9 & ®Y § 9E1 9[dT 2 30. The science of behavior is known as :

(A) FAIARE (A) Psychology

(B) HTIA (B) Sociology

©) frforratsh (C) Physiology

(D) TR (D) Extension

31. AU fhde fas & ? 31.  Sociology is the science of :

(A) 1S (A) Society

(B) URdR (B) Family

€ uE (C) Group

(D) SW@ ¥ ¥ FI5 T (D) None of the above

32, FaEN & ARG 99 & ®Y H ST 32. The informal rule of behavior is known

ST as:
(A) BB (A) Folkways
(B) = (B) Norms
(C) dia (C) Laws
(D) g (D) Mores

33. WRG @1 3ef B 33.  Mores means :
(A) TAER BT WAMUT TRIBT (A) Established way of behavior
(B) <dglR @I SR EGEIED (B) Acceptable way of behavior
(C) AER & SFIYAIRG M (C) Informal rule of behavior
(D) SUYa H A Bl 7l (D) None of the above

Ag-107 (11) Set-C



34, WM I& ‘TAFY A& W § T, o 34, The term personality is derived from

5. word ‘persona’ which is a/an :
(A) ifed v (A) Latin word

(B) %4 W= (B) French word

(C) U = (C) Greek word

(D) 3l I (D) English word

3. TR U& & : 35. Extensionisa:

(A) JATTaRe e (A) Formal education

(B) IR-3iv=IR® fem (B) Non-formal education
(©) (A) 3R (B) T (C) Both (A)and (B)

(D) Suga H A Bl el (D) None of the above

36. ol gedr & doal W foar feu fomr 36. Judgement without considering the facts

Aoy e 2 of an event is called as :
(A) wfedga (A) Stereotype

(B) UdIUE (B) Prejudice
(OWGEEICEIREIH (C) Ethnocentrism
(D) SUYa H A Bl 7l (D) None of the above

Ag-107 (12) Set-C



37. oM, 3TN, T UPR & : 37.

(A) Hiftd TR &
(B) IR-¥Iftid HwHId B
(C) (A) 3R (B) I

(D) SW& H W PIg T

38. WG, AF, @fdl, AR YR & 38.

(A) IHfTE IR &
(B) MG IHd &
(C) AMINT® T &

(D) mMIT® Tfiera

39. 3USIC TP UHR T 39.

(A) e &
(B) g o1
(C) 3ftcdrm &

(D) SWad # | BIS T

Ag-107 (13)

Food, shelter, clothes are type of :

(A) Material culture

(B) Non-material culture

(C) Both (A) and (B)

(D) None of the above

Folkways, norms, laws, mores are types

of :

(A) Social change

(B) Social interaction

(C) Social control

(D) Social mobility

Introvert is a type of :

(A) Personality

(B) Intelligence

(C) Attitude

(D) None of the above

Set-C



40. TENIACT fof @ 59 @ WU H 9 O 40. Sociometric method is also known

Skl % : as :

(A) WRIar faf (A) Preference method
(B) X fafy (B) Ranking method
(C) (A) 3R (B) TFI (C) Both (A) and (B)
(D) SWE ¥ | TS el (D) None of the above

41. AN @ A e B B o odr . 41, Working together with people is known

. as:
(A) DRI (A) Co-operation
(B) TUPMISIH (B) Accommodation
(C) UdHemy (C) Acculturation
(D) Suga H A Bl el (D) None of the above
42. %noo ek 42 %Xloo is the formula of :
(A) e & (A) Personality
(B) AT @ (B) Intelligence
(C) 3ftcdrm & (C) Attitude
(D) SUYa H A Bl 7l (D) None of the above

Ag-107 (14) Set-C



43, U@ IS T, GRS oS Serevvr g0 43,

(A) SRR D
(B) THigIdC &
C) Ui
(D) ST & ¥ PIE Tl

44, A= BT Y B 44,

(A) TIER BT WIMUT TRIBT
(B) HAER &1 WHR il
(C) TAER & SFIYAIRG M
(D) SWE & W B &

45, 3, fawar, qou Seree ¢ 45.

(A) Hiftd TR o
(B) IR-¥Ifd FwHd B
(©) (A) 3R (B)
(D) SWa ¥ ¥ IS T

46. NN =1 @ 59 99 | o1 Of+1 9T 46.

g
(A) 3Tl FEIER

(B) @I HRIFdCY
(C) (A) 3R (B) I

(D) SWad # | BIS T

Ag-107 (15)

A political leader, reformers etc.

example of :

(A) Introvert
(B) Extrovert
(C) Ambivert

(D) None of the above

Norms means an :

(A) Established way of behavior
(B) Acceptable way of behavior
(C) Informal rule of behavior

(D) None of the above

are

Knowledge, believes, values are example

of :

(A) Material culture
(B) Non-material culture
(C) Both (A)and (B)

(D) None of the above

Opinion leader is also known as :

(A) Early adopter
(B) Key communicator
(C) Both (A) and (B)

(D) None of the above

Set-C



47.

48.

49,

50.

Ag-107

IRIR {HFD! 4ol IS & ? 47.

(A)  FHNT
(B) HII® AL
©) (A) 3R (B) <
(D) SWF ¥ ¥ PIE T

e SR B 48,

(A) TRAR BT

(B) DH&TheT Al

(©) (A) ¥R (B) T
(D) SWE & W B &l

Ud Ul 3R Py Ul SR 2 49,

(A) Wiige uRar a1

(B) UlelyUsd URAR &I
(C) TN URAR &1
(D) TR IRAR 1

wAfa fafer fae @99 & @ fg 50,

AR fafdy g ?
(A) T vgH
(B) TR Ua. T
(C) TH. Ual. 9.
(D) 3NfUfe e

(16)

Family is the basic unit of :
(A) Society

(B) Social institutions
(C) Both (A) and (B)

(D) None of the above

The example of group is :
(A) Family

(B) Classroom

(C) Both (A) and (B)

(D) None of the above

One wife and number of husbands is an

example of :

(A) Joint family

(B) Polyandrous family
(C) Polygynous family
(D) Nuclear family

Sociometric method is best method for
selecting :

(A) Gram Pradhan
(B) MLA
(C) MLC

(D) Opinion leader

Set-C



51. SN $1/% O 8/% 51.  Which is/are element(s) of community ?

(A) Hrmfere &7 (A) Geographical area
(B) TH @I wIa (B) We feeling
(C) <Nl & W8 (C) Group of people
(D) SWa &l (D) All of the above
52. ‘HISTATG ¥ B S g ¢ : 52.  The term ‘sociology’ is derived from :
(A) dfed o 9 (A) Latin word
B) e T W (B) Greek word
(C) dfed + e v & (C) Latin + Greek word
(D) Wd ¥=< | (D) French word

53. UG-G & SRedHT & WHR G 3R 53. Accepting each other’s view and

develop a common understanding is

Uy HMHIY HHe JHRIT HRAT ST ST

known as :
g
(A) DRI (A) Co-operation
(B) dRffeTIE (B) Co-ordination
© NI RNE| (C) Acculturation
(D) TPHMSIH (D) Accommodation

Ag-107 (17) Set-C



54,

55.

56.

Ag-107

JeI~fd SN0 ¢ 54.

(A) Hrmifere wfcrefierar &
(B) afaet wfcefrerar &
(C) oigqq Tfeierd &l

(D) SW& H W PIg T

TR & SReqIv | fHar @) wed € 55.

(A) 3FdR® I=oT
(B) STEXT ROTT
(C) (A) 3R (B) I

(D) SWa ¥ ¥ I3 T

Td Ui 3R Pg UfcTdl ISTeRT B 56.

(A) difse URAR BT

(B) UfeiivUgs URAR &1

(C) TR URAR &1

(D) gfdeTIR URAR Bl

(18)

Promotion is an example of :

(A) Geographical mobility

(B) Horizontal mobility

(C) Vertical mobility

(D) None of the above

In extension point of you view the farmer

need :

(A) Intrinsic motivation

(B) Extrinsic motivation

(C) Both (A) and (B)

(D) None of the above

One husband and number of wives is an

example of :

(A) Joint family

(B) Polyandrous family

(C) Polygynous family

(D) Nuclear family

Set-C



57. ‘faWR’ o @ SR B 57. The term ‘extension’ is derived from :

(A) olfes 7 9 (A) Latin word
(B) Mo o A (B) Greek word
©) E B (C) French word
(D) f& o & (D) Hindi word
58. I8 W CIRIR] ‘Tﬁ?g—f%f BT R o 58. The group which is permanent in nature,
is known as :

® BT F ST O B

(A) TIHS FE (A) Primary group
(B) T I8 (B) Secondary group
(C) JNTaRG T8 (C) Formal group
(D) SUYw H H I el (D) None of the above
59. MG AT & el 3PS © : 59.  The basic unit of social institution is :
(A) URAR (A) Family
(B) WIS (B) Society
(C) WM (C) Community
(D) SUgad JHI (D) All of the above
60. @fad & TH U W G WM R & 60.  Movement of individual from one place
) T § to another place is known as :
(A) Armifere wioferar (A) Geographical mobility
(B) &ferer wfcrefrerar (B) Horizontal mobility
(C) cigaq Tfaeierr (C) Vertical mobility
(D) SUYa H A Bl 7l (D) None of the above

Ag-107 (19) Set-C



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

10.

11.

12.

Te-gRA®T H UA® WA & IR GRITad StR—
A,B,CTd D | Wemdi & 89 9 fadwedl § &
U6 [ el Yal Ha¥ UG SR Blel 2|
IR BT OMR J=R-3e § Jufd u97 o §
o TPR MR R

SHEYUE

'EL

w1 @ © O™

2 (A ® ©

wm: D @ © ©

TSI IR AT U IR I8 PIeT AT 98a T
&, TT Tl H 3T MRaR fodm T, I FAvved
fear S |

TG T B 3F FHE 2| AP R SR
e B, I B AR 3P YIM b SR |

T ST $ad 3. TH. IR, ST-T986 (OMR
Answer Sheet) WX 2 f 9 8| Sw-uAe A
uiRa WM & araTmar o=d d8l W fear M
STR A T8l 81 |

3. TH. 3R, STR-U36 (OMR Answer Sheet) W
o N fore 9 7@ I A T W0 argeul
AaIgdd U foram S |

e T & SW Wendf w7 Red Bl
3T OMR Answer Sheet SUTE &RM & I
B T P F WRAH By | qRemeff o W
TE-QRAHT o S A ¢ |

ferife mifd T8 2 |
5 W X6 PR, YEH-GRADET T 3 H, H-IR
& foru oy w@relt U1 W & fdan S ARy |

URIET-heT ¥ ANT-gab, Defdeicy, Yok a2l Heger

B o ST 9T SHBT SN AT Iioid 2 |

T & faval U9 3o SurRer § =TT 8 @l
T H YT BT U WUARYT & A B |

HEAYU

—

| EAYRADT Fiel W YA G 9% o o

2y
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E
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